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a=2 =
5 @ 5@
b=-1 :
5 ® 5@
c=-1 5
5 @ 5@

f(x) =ax*+bx+c

— 2x—x—1
A =(-0.5,0)

B=(1,0)

Syéttékentta...

f(x) = x—2

g(x) =X —4x+4

[+
1]
ha

o
I
-

o
1]
|

-

-2

ml = Ratkaise({f = g}

-(x=3 x=2)
a = f(2)
=0

b = g(3)
=1

+ | Syottokentta...
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Tl-nsplr'e expand((x—l)- (x+0.5)) 2_0.5 x—0.5

so]ve(x2—0_5. x_0'5=0,x) x=-0.5 orx=1.

y=x-2
{y 2 s{xly}
=X <=4 X+4

x=2and y=0 or x=3 and y=1

solve

solve(3° x2—5- x:O,x) x=0 or x=—

zeros(S- x%-5- x,'x) {O,E}

Geogebra
ml = Ratkaise({y = x—2, y = x* —4 x+4})

x=2 y=20
- x=3 y=1

O fx) =2x-2 5 6

@ g =-5x+3

I1 = Ratkaise(f = g)
- {x=2}

+ Syottokentta...




Mab8__laskin_ohjeet1.notebook

ml = Ratkaise({y =0,y = 2x2—3x+1}) =N

(ley:o)
= 1
XZE y:O H

f(x) = 2x*—3x+1

|1 = Ratkaise(f)

={X:1,X:1}
’ B
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